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NEW QUESTION 1

A large company is using an Amazon RDS for Oracle Multi-AZ DB instance with a Java application. As a part of its disaster recovery annual testing, the company
would like to simulate an Availability Zone failure and record how the application reacts during the DB instance failover activity. The company does not want to
make any code changes for this activity.

What should the company do to achieve this in the shortest amount of time?

A. Use a blue-green deployment with a complete application-level failover test

B. Use the RDS console to reboot the DB instance by choosing the option to reboot with failover

C. Use RDS fault injection queries to simulate the primary node failure

D. Add a rule to the NACL to deny all traffic on the subnets associated with a single Availability Zone

Answer: C

NEW QUESTION 2

A Database Specialist is troubleshooting an application connection failure on an Amazon Aurora DB cluster with multiple Aurora Replicas that had been running
with no issues for the past 2 months. The connection failure lasted for 5 minutes and corrected itself after that. The Database Specialist reviewed the Amazon RDS
events and determined a failover event occurred at that time. The failover process took around 15 seconds to complete.

What is the MOST likely cause of the 5-minute connection outage?

A. After a database crash, Aurora needed to replay the redo log from the last database checkpoint
B. The client-side application is caching the DNS data and its TTL is set too high

C. After failover, the Aurora DB cluster needs time to warm up before accepting client connections
D. There were no active Aurora Replicas in the Aurora DB cluster

Answer: C

NEW QUESTION 3

A company with branch offices in Portland, New York, and Singapore has a three-tier web application that leverages a shared database. The database runs on
Amazon RDS for MySQL and is hosted in the us-west-2 Region. The application has a distributed front end deployed in the us-west-2, ap-southheast-1, and us-
east-2 Regions.

This front end is used as a dashboard for Sales Managers in each branch office to see current sales statistics. There are complaints that the dashboard performs
more slowly in the Singapore location than it does in Portland or New York. A solution is needed to provide consistent performance for all users in each location.
Which set of actions will meet these requirements?

A. Take a shapshot of the instance in the us-west-2 Regio

B. Create a new instance from the snapshot in the ap-southeast-1 Regio

C. Reconfigure the ap-southeast-1 front-end dashboard to access this instance.

D. Create an RDS read replica in the ap-southeast-1 Region from the primary RDS DB instance in the uswest- 2 Regio
E. Reconfigure the ap-southeast-1 front-end dashboard to access this instance.

F. Create a new RDS instance in the ap-southeast-1 Regio

G. Use AWS DMS and change data capture (CDC) to update the new instance in the ap-southeast-1 Regio
H. Reconfigure the ap-southeast-1 front-end dashboard to access this instance.

I. Create an RDS read replica in the us-west-2 Region where the primary instance reside

J. Create a read replica in the ap-southeast-1 Region from the read replica located on the us-west-2 Regio
K. Reconfigure the ap-southeast-1 front-end dashboard to access this instance.

Answer: A

NEW QUESTION 4

A retail company is about to migrate its online and mobile store to AWS. The company’s CEO has strategic plans to grow the brand globally. A Database
Specialist has been challenged to provide predictable read and write database performance with minimal operational overhead.

What should the Database Specialist do to meet these requirements?

A. Use Amazon DynamoDB global tables to synchronize transactions

B. Use Amazon EMR to copy the orders table data across Regions

C. Use Amazon Aurora Global Database to synchronize all transactions

D. Use Amazon DynamoDB Streams to replicate all DynamoDB transactions and sync them

Answer: A

NEW QUESTION 5

An IT consulting company wants to reduce costs when operating its development environment databases. The company’s workflow creates multiple Amazon
Aurora MySQL DB clusters for each development group. The Aurora DB clusters are only used for 8 hours a day. The DB clusters can then be deleted at the end
of the development cycle, which lasts 2 weeks.

Which of the following provides the MOST cost-effective solution?

A. Use AWS CloudFormation template

B. Deploy a stack with the DB cluster for each development group.Delete the stack at the end of the development cycle.
C. Use the Aurora DB cloning featur

D. Deploy a single development and test Aurora DB instance, and createclone instances for the development group

E. Delete the clones at the end of the development cycle.

F. Use Aurora Replica

G. From the master automatic pause compute capacity option, create replicas for eachdevelopment group, and promote each replica to maste
H. Delete the replicas at the end of the developmentcycle.

I. Use Aurora Serverles

J. Restore current Aurora snapshot and deploy to a serverless cluster for eachdevelopment grou

K. Enable the option to pause the compute capacity on the cluster and set an appropriatetimeout.
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Answer: D

NEW QUESTION 6

A Database Specialist is migrating an on-premises Microsoft SQL Server application database to Amazon RDS for PostgreSQL using AWS DMS. The application
requires minimal downtime when the RDS DB instance goes live.

What change should the Database Specialist make to enable the migration?

A. Configure the on-premises application database to act as a source for an AWS DMS full load with ongoing change data capture (CDC)
B. Configure the AWS DMS replication instance to allow both full load and ongoing change data capture(CDC)

C. Configure the AWS DMS task to generate full logs to allow for ongoing change data capture (CDC)

D. Configure the AWS DMS connections to allow two-way communication to allow for ongoing change datacapture (CDC)

Answer: A

NEW QUESTION 7

A Database Specialist is creating a new Amazon Neptune DB cluster, and is attempting to load fata from Amazon S3 into the Neptune DB cluster using the
Neptune bulk loader API. The Database Specialist receives the following error:

“Unable to connect to s3 endpoint. Provided source = s3://mybucket/graphdata/ and region = us-east-1. Please verify your S3 configuration.”

Which combination of actions should the Database Specialist take to troubleshoot the problem? (Choose two.)

A. Check that Amazon S3 has an IAM role granting read access to Neptune

B. Check that an Amazon S3 VPC endpoint exists

C. Check that a Neptune VPC endpoint exists

D. Check that Amazon EC2 has an IAM role granting read access to Amazon S3
E. Check that Neptune has an IAM role granting read access to Amazon S3

Answer: BD

NEW QUESTION 8

A gaming company has recently acquired a successful iOS game, which is particularly popular during theholiday season. The company has decided to add a
leaderboard to the game that uses Amazon DynamoDB.The application load is expected to ramp up over the holiday season.

Which solution will meet these requirements at the lowest cost?

A. DynamoDB Streams

B. DynamoDB with DynamoDB Accelerator

C. DynamoDB with on-demand capacity mode

D. DynamoDB with provisioned capacity mode with Auto Scaling

Answer: C

NEW QUESTION 9

A company just migrated to Amazon Aurora PostgreSQL from an on-premises Oracle database. After the migration, the company discovered there is a period of
time every day around 3:00 PM where the response time of the application is noticeably slower. The company has narrowed down the cause of this issue to the
database and not the application.

Which set of steps should the Database Specialist take to most efficiently find the problematic PostgreSQL query?

A. Create an Amazon CloudWatch dashboard to show the number of connections, CPU usage, and diskspace consumptio

B. Watch these dashboards during the next slow period.

C. Launch an Amazon EC2 instance, and install and configure an open-source PostgreSQL monitoring toolthat will run reports based on the output error logs.
D. Modify the logging database parameter to log all the queries related to locking in the database and thencheck the logs after the next slow period for this
information.

E. Enable Amazon RDS Performance Insights on the PostgreSQL databas

F. Use the metrics to identify anyqueries that are related to spikes in the graph during the next slow period.

Answer: D

NEW QUESTION 10
After restoring an Amazon RDS snapshot from 3 days ago, a company’s Development team cannot connect tothe restored RDS DB instance. What is the likely
cause of this problem?

A. The restored DB instance does not have Enhanced Monitoring enabled
B. The production DB instance is using a custom parameter group

C. The restored DB instance is using the default security group

D. The production DB instance is using a custom option group

Answer: B

NEW QUESTION 10

A company developed an AWS CloudFormation template used to create all new Amazon DynamoDB tables in its AWS account. The template configures
provisioned throughput capacity using hard-coded values. The company wants to change the template so that the tables it creates in the future have independently
configurable read and write capacity units assigned.

Which solution will enable this change?

A. Add values for the rcuCount and wcuCount parameters to the Mappings section of the template.ConfigureDynamoDB to provision throughput capacity using the
stack’s mappings.

B. Add values for two Number parameters, rcuCount and wcuCount, to the templat

C. Replace the hard-codedvalues with calls to the Ref intrinsic function, referencing the new parameters.
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D. Add values for the rcuCount and wcuCount parameters as outputs of the templat

E. Configure DynamoDBto provision throughput capacity using the stack outputs.

F. Add values for the rcuCount and wcuCount parameters to the Mappings section of the template.Replacethe hard-coded values with calls to the Ref intrinsic
function, referencing the new parameters.

Answer: B

NEW QUESTION 14

A marketing company is using Amazon DocumentDB and requires that database audit logs be enabled. A Database Specialist needs to configure monitoring so
that all data definition language (DDL) statements performed are visible to the Administrator. The Database Specialist has set the audit_logs parameter to enabled
in the cluster parameter group.

What should the Database Specialist do to automatically collect the database logs for the Administrator?

A. Enable DocumentDB to export the logs to Amazon CloudWatch Logs

B. Enable DocumentDB to export the logs to AWS CloudTralil

C. Enable DocumentDB Events to export the logs to Amazon CloudWatch Logs

D. Configure an AWS Lambda function to download the logs using the download-db-log-file-portion operationand store the logs in Amazon S3

Answer: A

NEW QUESTION 17

A company is planning to close for several days. A Database Specialist needs to stop all applications alongwith the DB instances to ensure employees do not have
access to the systems during this time. All databasesare running on Amazon RDS for MySQL.

The Database Specialist wrote and executed a script to stop all the DB instances. When reviewing the logs,the Database Specialist found that Amazon RDS DB
instances with read replicas did not stop.

How should the Database Specialist edit the script to fix this issue?

A. Stop the source instances before stopping their read replicas

B. Delete each read replica before stopping its corresponding source instance
C. Stop the read replicas before stopping their source instances

D. Use the AWS CLI to stop each read replica and source instance at the same

Answer: D

NEW QUESTION 22

A company is closing one of its remote data centers. This site runs a 100 TB on-premises data warehouse solution. The company plans to use the AWS Schema
Conversion Tool (AWS SCT) and AWS DMS for the migration to AWS. The site network bandwidth is 500 Mbps. A Database Specialist wants to migrate the on-

premises data using Amazon S3 as the data lake and Amazon Redshift as the data warehouse. This move must take place during a 2-week period when source

systems are shut down for maintenance. The data should stay encrypted at rest and in transit.

Which approach has the least risk and the highest likelihood of a successful data transfer?

A. Set up a VPN tunnel for encrypting data over the network from the data center to AW

B. Leverage AWSSCT and apply the converted schema to Amazon Redshif

C. Once complete, start an AWS DMS task tomove the data from the source to Amazon S3. Use AWS Glue to load the data from Amazon S3 to AmazonRedshift.
D. Leverage AWS SCT and apply the converted schema to Amazon Redshif

E. Start an AWS DMS task withtwo AWS Snowball Edge devices to copy data from on-premises to Amazon S3 with AWS KMS encryption.Use AWS DMS to finish
copying data to Amazon Redshift.

F. Leverage AWS SCT and apply the converted schema to Amazon Redshif

G. Once complete, use a fleet of10 TB dedicated encrypted drives using the AWS Import/Export feature to copy data fromon-premises toAmazon S3 with AWS
KMS encryptio

H. Use AWS Glue to load the data to Amazon redshift.

I. Set up a VPN tunnel for encrypting data over the network from the data center to AW

J. Leverage a nativedatabase export feature to export the data and compress the file

K. Use the aws S3 cp multi-port uploadcommand to upload these files to Amazon S3 with AWS KMS encryptio

L. Once complete, load the data toAmazon Redshift using AWS Glue.

Answer: C

NEW QUESTION 24

A Database Specialist migrated an existing production MySQL database from on-premises to an Amazon RDS for MySQL DB instance. However, after the
migration, the database needed to be encrypted at rest using AWS KMS. Due to the size of the database, reloading, the data into an encrypted database would be
too time-consuming, so it is not an option.

How should the Database Specialist satisfy this new requirement?

A. Create a snapshot of the unencrypted RDS DB instanc

B. Create an encrypted copy of the unencryptedsnapsho

C. Restore the encrypted snapshot copy.

D. Modify the RDS DB instanc

E. Enable the AWS KMS encryption option that leverages the AWS CLI.

F. Restore an unencrypted snapshot into a MySQL RDS DB instance that is encrypted.
G. Create an encrypted read replica of the RDS DB instanc

H. Promote it the master.

Answer: A

NEW QUESTION 25
A global digital advertising company captures browsing metadata to contextually display relevant images,pages, and links to targeted users. A single page load
can generate multiple events that need to be storedindividually. The maximum size of an event is 200 KB and the average size is 10 KB. Each page load
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mustquery the user’s browsing history to provide targeting recommendations. The advertising company expectsover 1 billion page visits per day from users in the
United States, Europe, Hong Kong, and India. The structureof the metadata varies depending on the event. Additionally, the browsing metadata must be written
and readwith very low latency to ensure a good viewing experience for the users.

Which database solution meets these requirements?

A. Amazon DocumentDB

B. Amazon RDS Multi-AZ deployment
C. Amazon DynamoDB global table
D. Amazon Aurora Global Database

Answer: C

NEW QUESTION 27

A financial company wants to store sensitive user data in an Amazon Aurora PostgreSQL DB cluster. The database will be accessed by multiple applications
across the company. The company has mandated that all communications to the database be encrypted and the server identity must be validated. Any non-SSL-
based connections should be disallowed access to the database.

Which solution addresses these requirements?

. Set the rds.force_ssl=0 parameter in DB parameter group
. Download and use the Amazon RDS certificatebundle and configure the PostgreSQL connection string with ssimode=allow.
. Set the rds.force_ssl=1 parameter in DB parameter group
. Download and use the Amazon RDS certificatebundle and configure the PostgreSQL connection string with ssimode=disable.
. Set the rds.force_ssl=0 parameter in DB parameter group
Download and use the Amazon RDS certificatebundle and configure the PostgreSQL connection string with ssimode=verify-ca.
. Set the rds.force_ssl=1 parameter in DB parameter group
. Download and use the Amazon RDS certificatebundle and configure the PostgreSQL connection string with ssimode=verify-full.

ITOMMmMmOO®>

Answer: D

NEW QUESTION 32

A company is using 5 TB Amazon RDS DB instances and needs to maintain 5 years of monthly database backups for compliance purposes. A Database
Administrator must provide Auditors with data within 24 hours.

Which solution will meet these requirements and is the MOST operationally efficient?

A. Create an AWS Lambda function to run on the first day of every month to take a manual RDS snapshot.Move the snapshot to the company’s Amazon S3
bucket.

B. Create an AWS Lambda function to run on the first day of every month to take a manual RDS snapshot.

C. Create an RDS snapshot schedule from the AWS Management Console to take a snapshot every 30 days.

D. Create an AWS Lambda function to run on the first day of every month to create an automated RDSsnapshot.

Answer: B

NEW QUESTION 34

A company is developing a multi-tier web application hosted on AWS using Amazon Aurora as the database.

The application needs to be deployed to production and other non-production environments. A Database Specialist needs to specify different MasterUsername and
MasterUserPassword properties in the AWS CloudFormation templates used for automated deployment. The CloudFormation templates are version controlled in
the company'’s code repository. The company also needs to meet compliance requirement by routinely rotating its database master password for production.

What is most secure solution to store the master password?

A. Store the master password in a parameter file in each environmen

B. Reference the environment-specific parameter file in the CloudFormation template.

C. Encrypt the master password using an AWS KMS ke

D. Store the encrypted master password in theCloudFormation template.

E. Use the secretsmanager dynamic reference to retrieve the master password stored in AWS SecretsManager and enable automatic rotation.

F. Use the ssm dynamic reference to retrieve the master password stored in the AWS Systems ManagerParameter Store and enable automatic rotation.

Answer: C

NEW QUESTION 35

A company is using Amazon RDS for PostgreSQL. The Security team wants all database connection requests to be logged and retained for 180 days. The RDS
for PostgreSQL DB instance is currently using the default parameter group. A Database Specialist has identified that setting the log_connections parameter to 1
will enable connections logging.

Which combination of steps should the Database Specialist take to meet the logging and retention requirements? (Choose two.)

A. Update the log_connections parameter in the default parameter group

B. Create a custom parameter group, update the log_connections parameter, and associate the parameterwith the DB instance
C. Enable publishing of database engine logs to Amazon CloudWatch Logs and set the event expiration to180 days

D. Enable publishing of database engine logs to an Amazon S3 bucket and set the lifecycle policy to 180 days

E. Connect to the RDS PostgreSQL host and update the log_connections parameter in the postgresgl.conf file

Answer: AE

NEW QUESTION 36

A user has a non-relational key-value database. The user is looking for a fully managed AWS service that will offload the administrative burdens of operating and
scaling distributed databases. The solution must be cost-effective and able to handle unpredictable application traffic.

What should a Database Specialist recommend for this user?

A. Create an Amazon DynamoDB table with provisioned capacity mode
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B. Create an Amazon DocumentDB cluster
C. Create an Amazon DynamoDB table with on-demand capacity mode
D. Create an Amazon Aurora Serverless DB cluster

Answer: C

NEW QUESTION 41

A Database Specialist must create a read replica to isolate read-only queries for an Amazon RDS for MySQLDB instance. Immediately after creating the read
replica, users that query it report slow response times.

What could be causing these slow response times?

A. New volumes created from snapshots load lazily in the background

B. Long-running statements on the master

C. Insufficient resources on the master

D. Overload of a single replication thread by excessive writes on the master

Answer: B

NEW QUESTION 44

An ecommerce company is using Amazon DynamoDB as the backend for its order-processing application. The steady increase in the number of orders is resulting
in increased DynamoDB costs. Order verification and reporting perform many repeated Getltem functions that pull similar datasets, and this read activity is
contributing to the increased costs. The company wants to control these costs without significant development efforts.

How should a Database Specialist address these requirements?

A. Use AWS DMS to migrate data from DynamoDB to Amazon DocumentDB

B. Use Amazon DynamoDB Streams and Amazon Kinesis Data Firehose to push the data into AmazonRedshift
C. Use an Amazon ElastiCache for Redis in front of DynamoDB to boost read performance

D. Use DynamoDB Accelerator to offload the reads

Answer: B

NEW QUESTION 45

A Database Specialist needs to speed up any failover that might occur on an Amazon Aurora PostgreSQL DB cluster. The Aurora DB cluster currently includes the
primary instance and three Aurora Replicas.

How can the Database Specialist ensure that failovers occur with the least amount of downtime for the application?

A. Set the TCP keepalive parameters low

B. Call the AWS CLI failover-db-cluster command

C. Enable Enhanced Monitoring on the DB cluster
D. Start a database activity stream on the DB cluster

Answer: B

NEW QUESTION 50

A Database Specialist is designing a disaster recovery strategy for a production Amazon DynamoDB table. The table uses provisioned read/write capacity mode,
global secondary indexes, and time to live (TTL). The Database Specialist has restored the latest backup to a new table.

To prepare the new table with identical settings, which steps should be performed? (Choose two.)

A. Re-create global secondary indexes in the new table

B. Define IAM policies for access to the new table

C. Define the TTL settings

D. Encrypt the table from the AWS Management Console or use the update-table command
E. Set the provisioned read and write capacity

Answer: AE

NEW QUESTION 52

A Database Specialist is planning to create a read replica of an existing Amazon RDS for MySQL Multi-AZ DB instance. When using the AWS Management
Console to conduct this task, the Database Specialist discovers that the source RDS DB instance does not appear in the read replica source selection box, so the
read replica cannot be created.

What is the most likely reason for this?

A. The source DB instance has to be converted to Single-AZ first to create a read replica from it.
B. Enhanced Monitoring is not enabled on the source DB instance.

C. The minor MySQL version in the source DB instance does not support read replicas.

D. Automated backups are not enabled on the source DB instance.

Answer: D

NEW QUESTION 54

A company is running Amazon RDS for MySQL for its workloads. There is downtime when AWS operating system patches are applied during the Amazon RDS-
specified maintenance window.

What is the MOST cost-effective action that should be taken to avoid downtime?

A. Migrate the workloads from Amazon RDS for MySQL to Amazon DynamoDB

B. Enable cross-Region read replicas and direct read traffic to then when Amazon RDS is down
C. Enable a read replicas and direct read traffic to it when Amazon RDS is down
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D. Enable an Amazon RDS for MySQL Multi-AZ configuration

Answer: C

NEW QUESTION 57
A manufacturing company’s website uses an Amazon Aurora PostgreSQL DB cluster.
Which configurations will result in the LEAST application downtime during a failover? (Choose three.)

A. Use the provided read and write Aurora endpoints to establish a connection to the Aurora DB cluster.

B. Create an Amazon CloudWatch alert triggering a restore in another Availability Zone when the primary Aurora DB cluster is unreachable.
C. Edit and enable Aurora DB cluster cache management in parameter groups.

D. Set TCP keepalive parameters to a high value.

E. Set JDBC connection string timeout variables to a low value.

F. Set Java DNS caching timeouts to a high value.

Answer: ABC

NEW QUESTION 60

An Amazon RDS EBS-optimized instance with Provisioned IOPS (PIOPS) storage is using less than half of its allocated IOPS over the course of several hours
under constant load. The RDS instance exhibits multi-second read and write latency, and uses all of its maximum bandwidth for read throughput, yet the instance
uses less than half of its CPU and RAM resources.

What should a Database Specialist do in this situation to increase performance and return latency to sub-second levels?

A. Increase the size of the DB instance storage

B. Change the underlying EBS storage type to General Purpose SSD (gp2)

C. Disable EBS optimization on the DB instance

D. Change the DB instance to an instance class with a higher maximum bandwidth

Answer: B

NEW QUESTION 65

A company is using an Amazon Aurora PostgreSQL DB cluster with an xlarge primary instance master and two large Aurora Replicas for high availability and read-
only workload scaling. A failover event occurs and application performance is poor for several minutes. During this time, application servers in all Availability Zones
are healthy and responding normally.

What should the company do to eliminate this application performance issue?

A. Configure both of the Aurora Replicas to the same instance class as the primary DB instance.Enablecache coherence on the DB cluster, set the primary DB
instance failover priority to tier-0, and assign afailover priority of tier-1 to the replicas.

B. Deploy an AWS Lambda function that calls the DescribeDBInstances action to establish which instancehas failed, and then use the PromoteReadReplica
operation to promote one Aurora Replica to be theprimary DB instanc

C. Configure an Amazon RDS event subscription to send a notification to an AmazonSNS topic to which the Lambda function is subscribed.

D. Configure one Aurora Replica to have the same instance class as the primary DB instance.ImplementAurora PostgreSQL DB cluster cache managemen

E. Set the failover priority to tier-0 for the primary DBinstance and one replica with the same instance clas

F. Set the failover priority to tier-1 for the otherreplicas.

G. Configure both Aurora Replicas to have the same instance class as the primary DB instance.ImplementAurora PostgreSQL DB cluster cache managemen
H. Set the failover priority to tier-0 for the primary DBinstance and to tier-1 for the replicas.

Answer: D

NEW QUESTION 68

A company is load testing its three-tier production web application deployed with an AWS CloudFormation template on AWS. The Application team is making
changes to deploy additional Amazon EC2 and AWS Lambda resources to expand the load testing capacity. A Database Specialist wants to ensure that the
changes made by the Application team will not change the Amazon RDS database resources already deployed.

Which combination of steps would allow the Database Specialist to accomplish this? (Choose two.)

A. Review the stack drift before modifying the template
B. Create and review a change set before applying it
C. Export the database resources as stack outputs

D. Define the database resources in a nested stack

E. Set a stack policy for the database resources

Answer: AD

NEW QUESTION 73

A company has a web-based survey application that uses Amazon DynamoDB. During peak usage, when survey responses are being collected, a Database
Specialist sees the ProvisionedThroughputExceededException error.

What can the Database Specialist do to resolve this error? (Choose two.)

A. Change the table to use Amazon DynamoDB Streams

B. Purchase DynamoDB reserved capacity in the affected Region
C. Increase the write capacity units for the specific table

D. Change the table capacity mode to on-demand

E. Change the table type to throughput optimized

Answer: CE

NEW QUESTION 78
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A financial services company is developing a shared data service that supports different applications from throughout the company. A Database Specialist
designed a solution to leverage Amazon ElastiCache for Redis with cluster mode enabled to enhance performance and scalability. The cluster is configured to
listen on port 6379.

Which combination of steps should the Database Specialist take to secure the cache data and protect it from unauthorized access? (Choose three.)

A. Enable in-transit and at-rest encryption on the ElastiCache cluster.

B. Ensure that Amazon CloudWatch metrics are configured in the ElastiCache cluster.

C. Ensure the security group for the ElastiCache cluster allows all inbound traffic from itself and inbound traffic on TCP port 6379 from trusted clients only.

D. Create an IAM policy to allow the application service roles to access all ElastiCache API actions.

E. Ensure the security group for the ElastiCache clients authorize inbound TCP port 6379 and port 22 traffic from the trusted ElastiCache cluster’s security group.
F. Ensure the cluster is created with the auth-token parameter and that the parameter is used in all subsequent commands.

Answer: ABE

NEW QUESTION 80

A company runs online transaction processing (OLTP) workloads on an Amazon RDS for PostgreSQL

Multi-AZ DB instance. Tests were run on the database after work hours, which generated additional database logs. The free storage of the RDS DB instance is low
due to these additional logs.

What should the company do to address this space constraint issue?

A. Log in to the host and run the rm $PGDATA/pg_logs/* command

B. Modify the rds.log_retention_period parameter to 1440 and wait up to 24 hours for database logs to bedeleted
C. Create a ticket with AWS Support to have the logs deleted

D. Run the SELECT rds_rotate_error_log() stored procedure to rotate the logs

Answer: B

NEW QUESTION 82

A company is using Amazon with Aurora Replicas for read-only workload scaling. A Database Specialist needs to split up two read-only applications so each
application always connects to a dedicated replica. The Database Specialist wants to implement load balancing and high availability for the read-only applications.
Which solution meets these requirements?

A. Use a specific instance endpoint for each replica and add the instance endpoint to each read-onlyapplication connection string.
B. Use reader endpoints for both the read-only workload applications.

C. Use a reader endpoint for one read-only application and use an instance endpoint for the other read-onlyapplication.

D. Use custom endpoints for the two read-only applications.

Answer: B

NEW QUESTION 85
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